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MULTIPLE CHOICE: [2 MARKS EACH]
(Circle the letter of the one alternative that best completes the statement or answers the question) 
 
1. The volume of a room measuring 6.5 m × 6.2 m × 3.0 m is given by: 
 
a) 120.9 m3

b) 120.9 
 
c) 1.21 × 102 m3
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4. In the Periodic Table, the elements Na, Mg, Al, Si, P, S, Cl and Ar belong to the same 
 
a) Sector 
 
b) Period 
 
c) Group 
 
d) Family 
 

5. An atom containing 20 protons and 40 neutrons is: 
 
a) 20

20Ca

b) 40
20Ca

c) 60
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8. A neutral atom contains 13 protons and has a mass number of 27. The number of neutrons in the atom is: 
 
a) 40 
 
b) 13 
 
c) 27 
 
d) 14 
 

9. In the Periodic Table, the alkali metals are in the same 
 
a) Group 
 
b) Period 
 
c) Section 
 
d) None of the above 
 

10. 235
92 U + 1

0 n � 141
56 Ba + 92

36 Kr + 3( 1
0 n ) is: 

 
a) A fission reaction 
 
b) A fusion reaction 
 
c) A transmutation reaction 
 
d) None of the above 
 

SHORT is: 
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PERIODIC TABLE OF THE ELEMENTS

1
1.0079

H
hydrogen
hydrogène

2
4.003

He
helium
hélium

3
6.941

Li
lithium
lithium

4
9.012

Be
beryllium
béryllium

atomic number
atomic mass
Symbol

English name
French name*

5
10.811

B
boron
bore

6
12.011

C
carbon
carbone

7
14.007

N
nitrogen
azote

8
15.9994

O
oxygen
oxygène

9
18.998

F
fluorine
fluor

10
20.18

Ne
neon
néon

11
22.99

Na

8


